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frcb\e~l l: (2I.Yc) 
1if~J!l (Reynolds number) m~~[Z9*!f ~~lt~I:(£~ CP1m.iJJB~ I0 

*JE~~OT : 
Re=Duf/tL 

l~lJ\ry~ 2100 ffi¥ ' ffJH~1t ~t.t (laminar flow) , IlP~7]\mta7tJ\fZP:mmt 

itt] ; ~~mfl*~ 2100 ~ , ffim*~i.f.. (turbulent flow) , t1tafi~?!! 
tll1]z~tt 0 

tw.~!!.~ l\1EK (methyl ethyl ketone) Vif.~-[B]~ , ~i!!t~~ 2.067 


in. ' ZP:~mt~~ 0.48 ft/s 0 :tE 20°C ~ , MEK Z.*Efm 0.805 g/eml 
, 


~jtm~~ 0.43 cP [1 cP-LOOX 10-3 kg/(m • s)] 
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Pre bl €.tll 2: ( L ):10 ) f:;mlYou have 100 lb of gas of the following composition b<1 t'l.,ole. %: . 
CH4 30% 

H2 10% 

Nl 60% 

What is the average molecular weight of this gas? 
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:____________________\~o~_g_c~~ ________,...__-_--..J.,_47_5__S_W

, - - - - - - - - i - - -1- --,: .r(g Alg) 
::: ", .v(g BIg) 

800 gts :' fll.:rc "i'I(g/51 : - --"i',(lI/s ) , Ftl;n:. :: :(8 Clg) 
___-4-." " 2 " 
o 200 g Ala : : 1 ,.\ I (E AlE) ~ ___ J .12(e Alg), , , 
0.800 g BIg , , '(1 - .1"1)(g B/e) ,v2(g BIg) : ______ ; : 

• I J 1 ' ,;,~(ws), - - - - - - (1 - .l~ - yzHF. C/e) '-----"_-::-:--_ 
~ _ _ _ _ _ ____________________ - - - - - - - - - - - - .J 0.012 g Nr, 

0.558 g BIF. 
0.400 I! CIS100 II Ns 

frc b \ e-n\ 42 (21/0) 
ft-filfll 10 L .§.~-g-~~ zmfff.Z»!f~4'~rr-~f~'&:f! A --+ B 0 

A~~mw.&:~m~.ffi~o~*M.WM~~M,.&:.m~B••~ 
~ 2.00 mol AIL !¥Jm~ 0 

':l,.i50 Us 

10.0 mol AIL 11 ' 

V= IO.L 0.150 Us 

C.(mol IVL) 

A-B. rate =0 0050C,lmoi A r~actl(L'sjl 

1. ~rflcpfm~ A !¥J~1jj~ , MLm~f}]~ilf~{tj: 0 

4. *~1ia~fm~ A 1£'&:ff!tl4'lY-Jilm CAS om t--+ x) 0 

3. ~BI!~tH CA !t t f'F!ilB9HE~~!IX c 

2. mt~1jI1Jfj~*f~ CA(t) , ~jl*5~nrz'!:) Co. fJ t 1'F1II 0 


